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No. of Questions : 180

WAl BT T 180
Time : 2 Hours | [ Full Marks : 450
WHT : 2 U2 : [ qUIfF: 450
Instruction :
forder :

Note !

This paper consists of Objective Type Questions and is divided into

Two Sections (I & II) as under :

g8 yv-7a sgfeeeda weei ov amafa @ der & wvel (1 & 1), ¥ i aidia 2

¥ famy 8

(a) Section - I : Consists of 120 Objective Type Questions on General
Awareness, Mental Ability, Comprehension and Subject Awareness in
some major subjects.

(o) wom - 1: 3 120 wgfFeNy U¥= WP FH, AFREE AT TR0 R HRE
gl & g1 W ariRa 21

(b) Section - II : Consists of 30 Objective Type Questions on (I) English
Language and (1I) Hindi Language.

@ wve - H : ¥ 30 ey g (D F=0 a3 &R (D =9 3 9 w
arnfia #1

The candidate is required to attempt as many questions as he/she can of

Section-1, and Questions on ANY ONE of the TWO Language papers (I)

Enghish OR (II) Hindi in Section - LI

sopeft & o # fF wve - 1 @ sfdeRe ow T @vs - 0 & (D 3

(1) o= v 19 @ sfwfee e @ oEe e

(1) Each question carries 3 (Three) marks. One mark will be deducted for each
incorrect answer. Zero mark will be awarded for each unattempted

question.

TEE W 3 (A7) oF T & FRT W0 O @ [ VF H& ST T3]
U&F HAT W B ATAE Y €|
(3) P.T.O.
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(2) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.
uﬁmmhﬁwm'ﬂﬁwﬁﬁmmﬂﬁﬁm-ﬂﬂmil

{3) Each question is followed by Four alternative answers (1), (2), (3) and (4).

One of these answers is correct, Select the correct and record it against the
relevant question in the ANSWER-SHEET by darkening the circle with
Ball Point Pen as per guidelines.
e T @ W e SeR gER T # R (1), @), (3) W (4) ddt §
aviar T &) T @ @ 0@ OTN & WE 3| WA 9 gfd ma swed o
ﬁmﬂﬂamﬁmﬁ%ﬁﬁm%wﬁmﬁ)ﬂm
aTyve ¥ GINT I T GEd |

'SECTION - |
L B
1. How many numbers from 1 to 100 can be divided by 8 whose at least one digit
1587 :
1% 100 7% @ Rl W@ Rt 7% | 9 U5 ofF 8 €, @1 8 1 W Rar wn
LiETul
(1) 4 () 0 (3) 8 (4) 6
2. An elevator has the capadity of 12 adults or 20 children. How many adults can
board in elevator with 5 children ?

vs frge % 12 72 w20 = B @ W @) e # AR 5wl & W fewe
¥ o B @ e w2 ofam on e # 7
(1) 3 2) 5 (3) 6 (4) 9

3. The number of boys in a class is three times the number of girls. Which one of
the following numbers cannot represent the total number of children in the class 7
et wer ¥ wed! @ wom astedl A wen ¥ o= T R P F & A
wien @en d e qeat A wen w wRefie T B wah ?
(1) 48 (2) 44 (3) 42 (4) 40

4. Inan examination a student scores 4 marks for every correct answer and loses 1

mark for every wrong answer, If he attempts all 75 questions and secures 125
marks, the number of questions he attempted correctly is :

F e ¥ e Ref # 9@ 9w 3 | 4 gl e § mr e oW W1

TR W AT O § A w8 w75 wel o SR aw) 125 e g e #
dr 9w e wf o B # 7

(1) 35 (2} 40 (3) 42 (4) 46
(4)
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A box m;ntains 2 white balls, 3 black balls and 4 red balls. In how many ways
can 3 balls be drawn from the box, if at least one black ball is to be included in
the drawn ?

TH T A 2 Y g, 3w e awr 4 1 fr ¥ e q@wl & 3 AT W
freTe m wFa o SR A o0 1 F1 TR 8 ?

(1) 32 () 48 (3) 52 {4) 64

The number in the following series change in specific order. Suggest the next

number to continue the series :
frey o) o wen® v& Aftea ww & aeeh € 39 400 B U wRe @ fad aTeh

T T
3,7,16,35 ?

(1) 70 (2) 7 (3) 73 ) 74

In the following, one term in the number series is wrong. Find out the wrong
number :

e X B, v wom Aoh ¥ @ e 8 e wEm W W A
24,27,31,33,36

(1) 24 2y 27 (3) 31 (4) 33

In a certain code HIMACHAL is coded as JKOCEJCN. How will ORISSA be

coded ?

fpe 3 ¥ HIMACHAL & #g & JKOCEJCN | ORISSA &1 @2 &1 8 ?

(1) QTKUVC (2) QTKUPC (3) QTKUUC (4) QTKUUB

If room is called Bed, Bed is called Window, Window is called Flower, Flower
is called Cooler, on what would a man sleep ?

(1) Window (2) Bed (3) Flower (4) None

afr =y 1 fwer wE oww £, Rww @) Resd o € Resd @ gE ma
o @ me S A #, T Ty b w A ?

(1) Rz 2) R (3) T (@) B

Pointing to a person, a man said to a woman, "His mother is the only daughter
of your father.' How was the woman related to the person ?
(1) Sister (2) Mother (3) Wife (4) Aunt
v afin B ¥ o g, (e @il At o @ & e Saat | gEn R A
s o &1 v o @ o9 wfR & w37
(1) 7&F (2) =i (3) weht (4)

(5) P.T.O.
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11. InIndia, decimal coinage system was introduced in the year:

{1) 1951 {2) 1955 (3) 1957 {4) 1965
wd ¥ gnfis gE goret s @ g o
(1) 1951 # (2) 1935 # (3) 1957 # (4) 1965 ¥
12. The highest civilian Award given to a person is :
(1} Padmashri (2) Padmabhushan
(3) Padma Vibhushan (4) Bharat Ralna
awa # B @ aren wareE Al e 8
(1) west (2) TRH
(3) T e (4) e e
13.  Which of the following is not a commercial bank in India ?
(1) Reserve Bank ot India (2) Punjab National Bank
(3) State Bank of India ; (4) Dena Bank
= 7 & a9 @@ aftrog ¥ 78 8 ? ,
(1) s Red 4@ (2) UF A AE
(3) ¥ v i (4y 491 d&
14. The word Secularism’ was inserted in the Preamble of the Indian constitution
by :
(1) 25th Amendment (2) 42nd Amendment
(3) 44th Amendment (4) 52nd Amendment
= o Feder vea @ wfue & gwre A P Wi weiee g oer T ?
(1) 2597 |¥eF (2) 4297 HawE
(3) 449 deuH (4) 5297 Hoem
15.  Which of the following tax can not be shifted ?
{1) Income lax (2) Custorhs duty
(3) Excise duty (4) Sales tax
frr % @ dw o fafle o o o1 wam@ ?
(1) mame (2) ¥ qe
(3) I o= (4) feeht =
16.  Which of the following is not a quantitative method of credit control ?
(1) Bank Rate Policy (2) Open Market Operations
(3) Selective methods (4) Variable Reserve Ratio
= # ) P are Frrmor o1 aEers wder T g
(1) & = 3 MY ; (2) Gat @R A wibal
(3) =ufye ada (4) ofadh w arqoR

{6)
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Differentiatied products are sold in which of the following market ?

(1) Perfect competiton - (2) Monopoly

(3) Imperfect competition (4) Monopolistic cun-ﬁpetitiun
= % ¥ R e A faderere Rl A ol # 2

(1) oot wfernfir (2) TEHRrER ‘

(3) gt wirafen (@) eiRmR st

Which part of the Indian Constitution has been described as the soul of the
constitution ?

(1) The Preamble (2) Fundamental Rights

(3) Directive Principles of state policy (4) Right to constitutional Remedies
WA HEAF & FR-9 97 S # 3TE FeaeT 8 7

(1) StfrE : (2) 77 fee

(3) T=O & Wfa FvE a9 (4) wfdurs goeERt @1 R

The Vice-President in India may be removed from his office by a resclution of :
(1) Lok Sabha (2) Coundl of State
"(3) Counal of Ministers (4) Cabinet

Ra § Fu-aneafa @ oud g | e § fhwe owme @ g e O e
27

(1) & @ (2) ¥y qfeg

(3) wfofeg (4) e

In which of the following regimes, the ‘Rolling Plan’ was introduced in India ?
(1) Congress regime (2) NDA regime ‘

(3) Janta Party regime (4) UPA regime

frer ® @ R\ anwd @ o WG # AT @i w e e oo ?

(1) gy e # . (2) TIoHlote TrEA |

(3) e Orel T A (4) gofloto wrTH ¥

In which of the following countries, high yielding vanety seed was ﬁfst
developed ?

(1) India (2) Mexico (3) Sweden (4) US.A.
s # & By 29 ¥ vedl R ow 9= fhw @ Srw B AefEa fer mar e ?
(1) ¥rRd (2) =fereDr (3) e (4) YouHoTo

(7) P.T.O.
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24,

Which Five Year Plan in India had 'Faster and more inclusive growth' as its
primary objective ?

(1) Eleventh Plan (2) Tenth Plan

(3) Ninth Plan (4) Fifth Plan

Fra & & R duadfa aem &1 e st ey @ st R Rs e ?
(1) et gror (2} el g

(3) 7 TR | (4) uiedt Ao

Which one of the following is #ot a cooperative organisation ?

(1) Regional Rural Bank (2) State Cooperative Bank

(3) Primary Land Development Bank {4) Central Land Development Bank
Fr= &% & o1 1= weerd Hvew wff & ?

(1) & urfm &= (2) T wEEd @

(3) snufe 4R frwm & (4) B0z ofy Rare 3
Which Sultan of Delhi had assumed the titie of 'Khalifa-Ullah' ?

{1) Balban (2) Alauddin Khilji

{3) Qutubuddin Mubarak Khilji (4) Mohammad-bin-Tughlaq
foeehl & e e # welw-aeee @1 R uror B o ?

(1) =791 (2) AN Raeh

(3) T Jans fweoh (4) "o fm gree

In which of the following staté, President's rule was imposed in September,
2014 7

(1) Maharashtra (2) Nagaland (3) Assam (4) Kerala
ey % % frm o # Ryasr, 2014 ¥ wrgafy o @ fsar mar ?
(1) wRm & (2) AMets # (3) wram # (4) @=e #

How many medals were won by India in 20th Common Wealth Games held at
Glasgow 7

R ® oS g 208 Tgve del § AR g G e 1ed o ) 2
(1) 70 (2) 68 (3) 67 (4) 64

(8)
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Who is the writer of the book entitled "One Life is not Enough : An
Autobiography”, published in August, 2014 ?

(1) Sonia Gandhi (2) Manmohan Singh

(3) Natwar Singh (4) L.K. Advamu

T AW 59 A 5% ;U9 AT Wd § e 2014 % gl gerw @
o@s i 8 7

(1) = v (2) w=ires e

(3) 7eaw g (4) Teo Do ET

How many Bharat Ratna have been conferred in India since 1954 ?

1954 & gvaTq ART # fas & @) aRa W @ Aure T @ ?

(1) 45 (2) 47 : (3) 41 (4) 39
A plane that separates the body into unequal right and left sides is a :
(1) Transverse plane (2) Frontal plane

(3) Mid sagittal plane (4) Para Sagittal plane
Frfaftea o9 o9 AT TR & 2 s Wt F el wvar & P
(1) o et ) ¥uad

(3) W (4) RTINS
Inspiration involves : '

(1) Relaxation of intercostals muscles

(2) Contraction of internal intercostals muscles
(3) Contraction of diaphragm muscles

(4) Relaxation of diaphragm muscles

Svea ® BT B

(1) arauisfs e 3 wemRer

(2) ar=fe sfnufyje T § Fge

(3) zramew A F deEd

(4) sramem o ﬁlm

Right atrium of human heart receive blood from :

(1) Sinus Venosus (2) Pulmonary Vein
{3) Coronary Sinus (4) Pulmonary Artery
Y @¥g & g afer W v wEl A e d 7

(1) RrT PRz (2) Fa B

(3) FRFE T (4) amm-uv" AEMERT

(9) | P.T.O.
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32.

37.

In human body sex 1s determined :

(1) Al the time of fertilization (2} At the time of birth

(3) During gestation period (4} During formation of egg
urve # fE fier B §

(1) f¥em & w9m (2) “= & |9w

(3) ™rwn @ Wy (4) ey & Prafor & vy

Which of the following does mot accelerates the heartbeat ?

(1) Acetylcholine (2) Norepinephring(3) ‘Adrenaline (4) Thyroxine
TR AT R W R w s § 7

(1) hieafem () Ipdedm (3) W3 (4) argdferm
Simple cuboidal epithelial tissue is found in :

(1) Pancreatic duct (2) Respiratory tract

(3) Fallopian tube (4) Duct of Sweat gland

e ISR SUSE! How gy A & ¢ ;

(1) ¥Fama & s9e 3 ‘ (2) " T #

(3) wehfo g # (4) w7 3 s

Which is nof a part of humoral immunity ?

(1} T-Cell (2) B-Cell (3) Lymphacyte (4) Antibodies
& A @1 v WRORE &1 9T FEF R 7 ~

(1) Eo-ifir (2} Ho-wfere (3) ferwramge (4) THETH
ELISA Test is mof used for the detection of :

(1) Hepalitis (2) S.T.D. (3) AIDS (4) Typhoid
ELISA Test =1 & oo & & ) 71 frar e & 7 .

(1) e (2) THododlo (3) T=¥ (4) <TEHIES

Neuritis is inflammation of :

(1) Only axon (2) Entire neuron {3) Only Cyton
Frfafea % e o o =mefew #a e # ?

(1) &eF ot (2) gof =R+ (3) Bae Wt

(10)

(4) Only Dendron

(4) Fad g
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Cooking gas is a mixture of :

(1) carbon monoxide and carbon dioxide

(2) butane and propane

(3) methane and ethylene

(4) carbon dioxide and oxygen

(1) ®E= AnRitrge R 7@ Tgefeegs &

(2) &2 i} we

(3) A= Fk ofesh= &

(4) T endtaase ok sl &

What type of mental iliness makes the patient unaware of reality of life ?
(1) Neurosis (2) Epilepsy (3) Psycosis (4) Heredity
faw geR A wrafE 8 F O aefds Wige 9 aEfe v 8 Y

(1) R AR IE LS| (3) TETEH (4) WfEd
Valium is a which type of drug ?

(1) Opiate narcolics (2) Sedative

(3) Stimulants {(4) Hallucinogen
rmi=fesfm i Bumwrargn e ?

(1) five AarEte (2) wafen

(3) == (4) 2gfara+

The acid used in batteries is ;.

(1) acetic acid (2) hydrochloric acid

(3) sulphuric acid (4) nitric acid

eyt ® s yam Bar €

(1) s are (2) wEgEARe anF

(3) wWergRT e (4) TEET ara

World No Tobacco Day is '

(1) 31 May {2) 5June (3) 31 December (4) 5March
frefafra § % @@ R World No Tobacco Day & v 3 w-ran 5w & 7
(1) 3178 (2) 59F (3) 31w (4) 5%

In which season there is a more case of diphtheria ?

(1) Rainyseason (2} Winter (3) Summer (4) All seasons
fre Aras o fewify arfors g & 7

L(1) a1 W (2) TRE WG (3) 7= =g (4) =t d3em A

(11) P.T.O.
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44, Which of the following is a type of veneral disease ?
(1) Hepatitis (2) Gonorrhoea (3) Small Pox (4) Typhoid
Prafafam 4 & o M9 37 %1 warR § 7 c

(1) frerfew (2) M=rdm (3) ¥uH (4) TUETS
45. The intermediate host of trypanosoma is :
(1) Sand fly (2) Fruit fly (3) Butterfly (4) Tse-tse fly

Rtrarr w maed] dwe w8 7 _
(1) dvs oo (2) W T (3). weR g @) f-f warg
48. The schizont stage of plasmodium in man occur in :

{1) RBC (2) Blood and liver cell
(3) Liver, spleen and blood cell (4) Liver cell anly
refas & WEwive s v & e wer # omn dren @ ?
(1) =& T T (2) v aiR g &t B
(3) T, wiEr R T W (4) Fad aFa B

47. Entamaeba differ from amoeba in lacking :
(1) Nucleus (2} Fuod vacuoles
(3) Contractile vacuoles (4) Pseudopodia
frefarfyn & e arre @ ®Ror gueariian apltar @ sy & 7
(1) =gfe=as (2) s e
(3) wigaege THTE : (4) wEGIfEm

48. Trachoma is a disease of :
(1) Lungs (2) Intestine (3) Eye (4) Ear
o rw A T flew & 7
(1) S (2) &lfa (3) sifE (4) &=

49, Down syndrome is due to:
(1) 21 trisomy (2) 21 monosomy (3) 18 trisomy (4) 18 monosomy
wraq g FPrefafen # e owo gem & 7 '
(1) 21 grEwrd (2) 21 e (3) 18 grewEnd (4) 18 wrarar
50. Chloroquine is used in the treatment of ;

(1) Cancer (2) Tuberculosis (3) Malaria (4) Filaria
frfafae & 9 fad 99ew § soNfdR= &1 Sua gy & 2 :
(1) && 97 (2) &@ 9 (3) wefa (4) wEafa

(12)
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Form of Vitanun A obtained from animal food is :

(1) Retinene (2) Retinol (3) Retinoicacid (4) B Carotene
e o & oy o e faerfde A @ Wy B

(1) i (2) W2ia (3) ¥eAgw ap (4) drer AW
Mpyopia is characterized by :

(1) Glaucoma (2) Farsightedness

(3) Nearsightedness {4) Cataract

A e g gar 7 ? :

(1) @ (2) gEafdmm

(3) Praeefia (4) Afeofd

Chemical name of Vitamin C is:

(1) Ascorbic acd (2) Retinoic acid

(3) Pantothenate (4) Cholecalciferol

et @ = aamafts = #

(1) tweifam ard (2) ¥e=gw o

(3) weNrE ‘ (4) BroEbfeTee

The metal generally mixed with gold while making ornaments s :

(1) zinc (2) iron (3) silver (4) copper
qra: e F @ ferg W ¥ fremar s &

(1) fim (2) = (3) didt (4) =f
Flephantiasis is caused due to infection of: _

(1) Ancylostoma  (2) Taenia (3) Wuchereria (4) Ascaris
vhog fewe @A & R e @ 7

(1) veamaaNmr (2) @fFar (3) areafar (4) TvBRE
Kala-azar is caused by :

(1) Leishmania donovani (2) Leishmania infantumi

(3) Leishmania chagasi (4} Leishmartia canis

FTEAR & BRI § :

(1) ofremirar s (2) eftenmfaar 3R <H!

(3) e =i (4) eftermfaar B

(13) P.T.0.
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57.

58.

59.

61.

Amoebic dysentery in man is caused by :

(1) Entamoeba gingivalis (2) Amoeba proteus _

(3) Enamoeba coli (4) Entamoeba hystolytica

A= & ST SR # AR §

(1) teesrftar fiforaferg () afar mRkTE

(3) Gespiar e (4) veeanflar ReelfaRer

The symptom of trypanosomiasis is :

(1) Sleeping sickness (2) Diarrhoea

(3) Dysentery (4) Gonorrhea

fedratae & oo @

(1) Frsg =l (2) e

(3) sferem (4) M

Which Republic Gautama Buddha belonged to ? _

(1) Mallas (2) Shakyas (3) Licchavis (4) Jnatrikas
ew g8 A ToRE & 9 ?

(1) e (2) ¥y (3) foreedt (4) @
Emperor Ashoka appointed which officer to teach people about dhamma ?
(1) Amatya {2) Rajuka

(3) Tirtha Ayukta (4) Dhamma Mahamatra

wETe gt | us &) finn W B 49 @ far fahe aRerd o Pgfae o ot P
(1) smr (2) v

(3) el arge (4) =™ REFTR

The theory of syadvada is associated with :

{1) Sankhya Philosophy (2) Vedanta Philosophy

(3) Buddhism (4) Jainism

e & g fFa aafag & °

(1) ¥ weiq (2) e g9

(3) @g v (4) 39 o

{14)



Name the writer of Harshacharita ?
(1) Harshavardhana

(3) Harisena

el & dus = & ?

(1) wd=Es

(3) A

15UM13/8/(Set - 1)

(2) Banabhatta
(4) Bhavbhuti

(2) "TOEC
(4) =

The most important part of the temple where the image of chief deity was

placed is known as :
(1) Shikhara
(3) Garbhagriha

(2) Mandapa
(4) Pradakshina Patha

Rfeex % waw WEwYE W W@l gen daor v o 99 e o 1w pea ¥ 7

(1) PR
(3) e

Alberuni came to India with whom ?
(1} Mohammed bin Qasim
(3) Genghis Khan

(2) WY
(4) wefdor vy

(2) Nadirshah
(4) Mahmud Ghazni

Heram WG ToeS S 3T of ¢

(1) gy fasr wifee (2) 7RY T

@3y @ @i {4) wER oA

Which Sultan of Delhi bmught. the power of Chahalgani Amirs to end ?

(1) Qutubuddin Aibak (2) Iltutmish

(3) Raziya _ (4) Balban

g Rt @ goom o wEerE et @ ue @) w2

(1) FmEé™ s (2) Fpafan

(3) R (@) soa

Who was Akbar's revenue Minister ?

(1) Birbal (2) Man Singh (3) Todar Mal (4) Abul Fazal

HHER Y T HA B o4 7

(1) v (2) w1 fow (3) T A (4) S Wl
(15) P.T.O.



15U/113/5/(Set - 1)

67.

&9.

F j

In 1765 the then Mughal Emperor granted the right of Diwani of Bengal, Bihar
and Orissa to East India Company, what is meant by Diwani Power ?

(1) Manage Law and Order (2) Establish Judiciary

(3} Revenue Collection (4) Wage War and sign treaty

1765 # aerel® el v % dw gPem wh @ e, fer ik Sdmr @
A FRER wEE P, Gt JRER & F ad @7

(1) =T 3w =g d@er (2) sr=Tere W WG WA
(3) ¥ R (@) g& ¥ Al @en

Who among the following established the Asiatic Society in Calcutta ?
(1) James Princep (2) William Jones

(3) James Mili (4) T.B. Macaulay
fFr=fafea % ¥ frsd aesor 4 s Semd H wraen fwar ar ?
(1) w=9 fivm (2) Rfermm S

(3) W= e (4) Ze o Amrr

Where did the last Mughal Emperor Bahadur Shah Zafar die ?

(1) Delhi (2) Lucknow (3) London (4) Rangoon
AW T HHIT qETGY WE AR Bt T wat g o ?

(1) Resh (2) TS (3) W (4) ¥

The title of 'Viceroy” was added to the office of the Governor General in which
year ?
AFATT B S TR TR @ Uw D A e ot ¥ Fordy mh ?

(1) 1858 {2) 1857 (3) 1861 (4) 1848
Name the writer of "Satyartha Prakash" :

(1) Swami Vivekanand (2) Swami Dayanand Saraswati
(3} Lala Lajpat Rai (4) Raja Ram Mohan Roy
™ T @ oGS o & 7

(1) = e (2) @ guFE wRwEE

(3) wren dreHy Y (4) T WHEE I

The first Communist Revolution happened in which country ?

(1) Cuba (2) Russia (3) China (4) France
freg # gweht wrgEd aify few 2w g7

(1) aqar (2) & (3) #=  (4) wiE

(16)
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Source of origin of Narmada river is :

(1) Amarkantak hills (2) Brahmagiri hills

(3) Aravali hills (4} Sahyadri hills

TG T @ IgTw T A &

(1) avezes ggfe (2) 7R gefeat

(3) amme wwfet (4) wEnf geriedt

Which one of the following is called the ‘sugar bowl’ of the world ?

(1) Hawailslands (2) Mauritius (3) Java . (4) Cuba
frefaftsr 4 @ 5 e & 99 & s #8 aar @ °

(1) &a¥ 8w WF  (2) W (3) wman (4) ==

As per census of 2011, which one of the following State does not have million
city ?

(1) Haryana (2) Punjab (3) Jharkhand (4) Odisha
2011 # WToE @ yar Pl & | 5w oo § o9 ot e 9 R 2
(1) =Ramon (2) durE (3) IRTvS (4) ahfEem

The largest reserve of Iron ore is found in the State of :

(1) Odisha (2) Kamnataka (3) Jharkhand (4) Chhattisgarh

8 JYRP BT HAIE |t MER g ST § 2
(1) anfEm # (2) #afew o (3) FINGvs ¥ (4) BETE #

The 'Sahyadris’ word is used for the ;

(1) Vindhyan Range (2) Satpura Range
(3) Eastern Ghats (4) Western Ghats
wEnEE W wAr e o i

(1) fmem soft & fag (2) wager oo & fag
(3) o ue B fog (4) ofverd T & foy

Among the following who attempted for the first time ciimatic divisions of
India ?

(1) H.E. Blandford (2) C.W. Thomthwaite
(3) G.T. Trewartha (4) L.D.Stamp

e & & e wa® Te YRGB Weag SeweT & 5w e ?
(1) T80 fo @ pIE A (2) WMo Tago urelie
(3) o o famit 3 {4) T Bo B 3

(17) P.T.O.
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79. Which State has largest area under rice cultivation ?

(1) Uttar Pradesh (2) Odisha (3) West Bengal (4) Chhattisgarh
arad A A & iy gaifte dawe FE o ¥ £ ?

(1) ITR 7AW (2) anfeem (3) 9ftew g (4) odfETg
Who is the author of the book 'Our Common Future' ? _

(1) G.H. Brundtland (2) E.F.Schumacher

(3) P.R. Ehrilich (4) . Schell

W WA e (R ¥ vufien o # 2

(1) Wo Yo FEA=s (2) o TPo FATE

(3) Mo ¥R TERfEE (4) o AT

NALCO aluminium plant is located at :

(1) Korba {2) Mettur (3) Renukoot (4) Koraput
e Yegfifraw s Ree #

(1) S ¥ (2) e ¥ (3) ryae # (4) PRIge ¥
Crude oil is mainly found in the : . |
(1) Metamorphic rocks

(2) Igneous rocks

(3) Sedimentary rocks

(4) Both igneous and metamorphic rocks

e AW FEIFLT grar o d

(1) warafta dt 3 ’

(2) s A H

(3) Eordl ¥ F

(4) T vd wuraie 2 et A

Which one of the following pairs is ot correctly matched ?

(1) Shanghai — Cotton Textile (2) Pitisburg - Iron and Steel
(3) Windsar - Aircraft (4) Vladivostok - Shipbuilding
et wire # 9 #ew v gifea o & °

(1) verd - gt o= su (2) fewwt - 17 3am

(3) f=e®e - agam (4) =rdEReTe - dmfmi

(18)
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Which one of the following iron and steel plants is located far away from coal
producing areas ?

(1} Jamshedpur (2) Bhilai (3) Visveswaraya (4) Rourkela
ey % @ Y oE Td e P PIUET SAED G B B q¥ safew @ 7
(1) TR (2) Premd (3) fawavayar (4) TS
The highest salinity is found in the :

(1) Red Sea {(2) Baltic Sea (3) China Sea {(4) Dead Sea

walfdes Fguren o o &
() FEsRYE (2 efRE arR A (3) 99 9rR # (4) W TR A
Which one of the following areas is #not related with coal mining ?

{1) Shansi—Shensi (2} Silesia (3) Ruhr (4) Mesabi
B i 9 FF-T] 8 BU WA W W 78 67

(1) wr=a-a=a (2) et (3) W= (4) T
Which one of the following is a renewable resource ?

(1) Metals (2) Water (3) Plants (4) wild life
fr= # A P Taeiy HaRmE @ 7 .

(1) =Te (2) 9= (3) Tt (4) a3 T
Manas in Assamisa:

(1) Wild life sanctuary (2) Biosphere reserve

{3) National Park (4) Bird Sanctuary

M ¥ AEE U

(1) T g WA (2) TrEARTEETS AT

(3) Wi O (4) &l IRy

Koyna hydel power project is located in :

(1) Kerala (2} Karnataka (3) Tamil Nadu (4) Maharashtra
wrE W e e Rert 8

(1) #ea 3 (2) mEes ¥ (3) aferrg # (4) TEwWrg ¥
The coldest and smallest planet of the solar system is : |

(1) Pluto (2) Venus (3) Mars (4) Mercury
dRaved @1 TS 581 av BieT UE § ¢

(1) FR (2) I% (3) e (4) 9%

(19) P.T.O.
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93,

97.

The fastest rotating planet of the solar s)rste:ﬁ is:

(1) Venus (2) Jupiter (3) Pluto (4) Saturn
Hored &1 v g goiv $E aren 92 2

(1) 4= (2) gewafd (3) JR @) o
Which one of the following planet has the smallest orbital period ?

{1) Plute (2) Mercury (3) Neptune (4) Uranus
FfRAaom S v ed sfg a8 7

(1) R (2) 92 (3) T¥m (4) a9
Who was the Rain God of the Rigvedic Aryans ?

(1) Marut (2) Agni (3) Surya (4) Parjanya
Frfod F10 B qIRa 3 dgar B & ?

(1) #rHe (2) wfe (3) @ (4) o=
What is the first sermon givmb}r.Gautam Buddha known as ?

(1) Dharmachakrapravartan {2) Mahabhinishkramana

(3) Mirvana g {4) None of the above

ew 3% & 95 99eY B Y 0 Aen & ?

(1) wiamyeia (2) werdfreor

(3) fafor (4) ¥ & 7

Which one of the following was a Harappan port site ?

(1) Dholavira (2) Lothal (3) Kalibangan  (4) Harappa
ol 4 | 319 1@ dgwTE e o7 ? :

(1) demdr (2) sy (3) wTEATETH {4) wEm
Who is regarded as the first Jain Tirthankar ? .

{1} Rishabhdeva (2) Mahaviraswami

(3) Parshvanath ' (4) Nagarjuna

ygel A9 defer sy A o & 7

(1) =nET (2) wErdR ¥arh

(3) unedar : (4) AN

Who among the following was the earliest ruler of Magadh ?

(1) Vikramaditya (2) Bindusar (3) Bimbisar (4) Rama
F=fefaa 4 9 #1977 # IRMNE ures o7 ?

(1) fermizey (2) frgoR (3) TR (4) v

(20)
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8. Which religion did Chandragupta Maurya adopt towards the end of his life ?

(1) Buddhism (2) Shaivism (3) Vaishnavism (4) Jainism

v A 7 deE & sifdw ewg # feg e & @ ol ?

(1) dg (2) 7w (3) dwrg e (4) oo ud
#9. Which of the following Harappan sites is known as the 'Mound of the Dead' ?

(1) Mohenjodaro (2} Harappa (3) Kalibangan (4) Lothal

frfefan seam wat 4 & ot gast & &ar & 7 @ = o # 7

(1) FEEES (2) s (3) weRET (4) e
100. Which one of the following drama was composed by Harsha ?

(1) Abhigyan Shakuntalam (2) Mricechhakatikam

(3) Ratnavali ' (4) Mudrarakshasa

freifafia # & g-w "reg ed gR1 e g ?

(1) SfET T (2) FeoPteH

(3) vemaed (4) =TT
101. Milindpanho is a dialogue between :

(1) Menander and Nagasena (2) Chanakya and Chandragupta

{3) Buddha and Anand (4) Akbar and Birbal

TfereTR) v ey E o

(1) e 3R A B dm A (2) =worEg R T @ dy o

(3) 4T % o & fa # (4) e ok dvge B 4w A

102. Which of the following Chola rulers sent a mission to China to establish trade
relations with her ?

(1) Rajaraja (2) Rajendra [
(3) Kulottunga [ (4) All of the above
A A s WA B B e 99 T A o gEeEeee e e ?
(1) IR A9F (2) o= H9H
(3) ByelgT e (4) SYUw T A
403. Which Pratihara ruler received the title of ‘Adivarah’' ?
(1) Nagabhattall (2) Mihirbhoj (3) Vatsaraj (4) Mahendrapala
fre ufier wReE 3 fEERe & Sorfe wEer # 7
(1) e e (2) fAfredw (3) ev T {4). A=A

(21) : P.T.O.
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105,

106,

107.

108.

108.

Which Sultan started the [gta system ?

(1) HNtutmish {2) Alauddin Khilji

(3) Muhammad Bin Tughlaq (4) Firoz Tughlaq

| geo A ol el SR @ P

(1) FEge (2) remagdE Raeoh

(3) Fe=ng faq e (4) M grrere

Who among the following Sultanate rulers established a 'market system ?
(1) Balban (2) Alauddin Khilji

(3) Raziya Sultan (4) Muhammad Bin Tughlaq
Pyrafaftes weema & wel § F e TR aEsar & Afaures fwm e
(1) @&«4 (2) sreTsed fRaedt

(3) form geor (4) ggve R= e

Which Mughal ruler introduced the system of 'Ain-i-Dahsala’ ?

(1) Akbar (2) Jahangir (3) Shah Jahan (4) Aurangzeb
fre e TTEE * FIEA-g-geure’ Tef # AR R ?

(1) arwa (2) wErfiz (3) wmETEl (4) oo

Age of A and B differ from 2 years. A's father D is twice as old as A and B is

twice as old as his sister C. The age of D and C differ by 40 years. The age of A
is ¢

(1) 36yrs (2) 32 yrs (3) 28yrs (4) 26 yrs
AMRBI AL H IR ADTTD AN TR A B 55 @ 1 TN & dun

BASHWH = CR QR aRDARCad swdr w40 af & a1l A &
Y B

(1) 36 a8 (2) 3274 (3) 2879 (4) 2699

The sum of natural number and its reciprocal is %. then natural number is :

uf wrpfes wem o Ive agard @1 A g_%.fi’rﬁ@mmmmﬂé.
a -3 @ 3 3 3 (@) 4
A motor boat goes 10 km upstreamn and returns back to starting point in 55

minutes. The speed of motor boat in still water is 22 km/hr then speed of
current is :

(1) =2km/hr (2) 2km/hr (3) 4km/hr (4) 3km/hr

(22)
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T& HieR dic 1 10 Ao wivam A R e aow I s fr R @ o
55 P @ 1 af} we Wa § Wrew ae @ 7Ry 22 feflo/eer & o) an &
e 8

(1) 2fFfle/amr (2) 2ffo/ger () 4fRfo/5a1 (4) 3 Rfle/dar

A farmer wishes to grow a 100 m? rectangular vegetable garden. Since he has
with him only 30 m barbed wire, he fence three sides of the rectangular garden
letting compound wall of his house act as the fourth side fence. The length of
his compound wall is :

& R 100 79 fe & §F TN SrUOTER T AT uEm §) SEe U
30 Fo TR T T TN AR ¥ R 7F awAeR e B @ e o @
T (7 wen) € AR il e o T F fer |} ke @ o owd o @
FeR T T=E FR 7

(1) 20 m (o) (2) 10 m (dro) (3) 15m (o) (4) 25 m (o)

The product of the sum of the digits and difference of the digits of two digits
number is 12. The number itself equal to 7 times the sum of the digits. The
number is : _

o1 @ Al wEm & sl @ Al qen e B ¥R @ s 12 8 ¥Y 18
FEAT ¥ AT B AR 7N B W B | qE e § '

(1) 24 (2) 31 (3) 28 (4) 42

Some student planned a picnic. The budget for food was Rs. 480, But eight of
these failed to go and thus the cost of food for each member increase by Rs. 10.
How much students attended the picnic ?

o v Aafs o # A o &) 3978 @ &7 @Y 480 vo Puifea o gy
TR ASTHA DTN T IR, WA T WA F 10 Fo T @ vy v B omh
B o e o Uefs 4 9uReg 4 ?

{1} 24. (2) 16 (3) 48 (4) 32

The base of isosceles triangle is 10 cm and one of its equal sides is 13 cm. The
area of triangle is :
T FARaEg Brgw @ omak 10 R aur I @ W el | g6 qon A
R 139 2 @ e @ fwwa B
(1) 30 cm? (&t ¥) (2) 60 cm? (77t ¥
(3) 120 em? (@ #4) ‘ (4) 100 em? (@t &)

(23) P.T.O.
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114.

116.

118.

117.

118.

A sector of a circle of radius 12 cm has the angle 120°, [t is rolled up so that two
bounding radii are joined together to form a cone. The volume of cone is

&

12 ¥ Bowm 79 79 &1 @ Brouave s dwe o 3 120° 8, g R @)
2t Browmsti a1 ey 70 yer A 9 2 % sie @ oeR @ 9 g6 A

FT amre & [,-Z:.]
(1) 180 em? (g7 ¥4) (2) 189 em? (a7 O))
(3) 189.5 om* (&7 &¥) (4) 200 em? (= &)

An examinee got 30% marks in examination and failed by 6 marks. Another
examinee got 40% marks which were 6 more than the minimum marks
required to pass. The minimum marks percent required to pass is :

e udemf] e odan 4 30% iwm wra FB 6 Wl ¥ B & wm ¥ gE
ol S 0T § 40% P ST wwaT § W 9 B @ fon PuiRa /pew o
W 60id e &) oW B B g Peife ~rm s wftea 2

(1) 42% (2) 35% (3) 33% {4) 36%

By selling 150 apples a fruit seller gain the selling price of 30 apples. The gain
percent is :

UE Gl fAdar 150 #6l # dvaw 30 46 3 Ao gEw w o™ ww e & v
TS A R R

(1) 20% (2) 30% (3) 25% (4) 40%

ABCDE is.a regular pentagon and if the bisector of Z#A of pentagon meet the
side CD in M, the ZAMC is equal to :

ABCDE & Fdayal €& 3fR af 9o @ 2A &1 o CD Hanr @ g M W@
e 8, d ZAMC %1 51 & -

(1) 70° (2) BO® (3) 90° (4) 100°

A man on a top of vertical tower observes a car moving at a uniform speed
coming directly towards it. it takes 12 minutes for the angle of depression to
change from 30° to 45°, how soon after this, will the car reach the tower ?

(1) 12 minutes (2) 14 minutes (3) 15 minutes (4) 16.39 minules
FaR @8 TR B AR F 1 e v weE A A @Y T @ e a1
&R D o 8| 12 B § SR &7 9T BT 30° | aLHHY 45° 8 wrew & o
Fae & WY 4% SN ear & WA uEe ?

(1) 12 fiFe (2) 14 e (3) 15 fAme (4) 1639 fire
(24)
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119. A book contains 100 pages. A page is choosen at random, what is chance that

1”!

the sum of digits on the page is equal to 9 ?
T g 4 100 7% 2. VRew U @ ¢ gm @ gg4 R o 8, 9oy afef @
o 9 ¥ & mifiear F & 2

2

1 g 99
(1) ) 2 =5 (3) = (4) =

[f a pack of 50 tickets numbered 1 to 50 are shuffled and two tickets are drawn,
then probability of both tickets drawn bear prime numbers, is :

13 S AT TE ST A e A MA gr SO Rest 2 B A @ A
fowe froma o & o 9 Poe o @Y W oamren wWem sifda B o
urfdasar enfy

3 3 3 24
(1) % (2) o (3) = (4) ey
SECTION -1l

Language - English
(For Candidates Opting English Language)

Note : Four alternatives are given as possible answers fo each question. Give the correct choice

as an ansuer ;

Direction : (. No. 121-124) ; Select the word nearest in meaning to the given word ;

121. Mentor:

(1} Body-guard (2) Boss

(3) Follower (4) Wise Counsellor
122. Pruning:

(1} activating (2) trimming (3) punishing (4) encouraging
123. Emergence:

(1) onslaught (2) deveinpm@nt (3) renaissance (4) rise
124. Transcend :

(1) revive {2) encompass (3) surpass (4) widen
Direction : (Q. No. 125-128) : Choose the word which is most opposite in meaning of the
word given in bold :

125. Subvert:
(1) strengthen {2) create (3) conguer {d) escalate

(25) P.T.O.
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128. Considerable: :

(1} uncountable (2) negligible (3) irresalute (4) inconsiderate
127, Attachments :

(1) harmony (2) mistrust (3) loyalty (4) hatred
128, Trivial:

(1) difficult (2) easy (3) important (4) small
Direction : (Q. No, 129-132) : Select the correct meaning of the given idiomatic expressions :
128. To pick holes :

(1) to find some reason to quarrel (2) to destroy something

(3) to criticize someone (4) to cut some part of an item
130. To keep one’s temper

(1) to become angry (2) to be in good mood

(3) to preserve one's energy (4) to be aloof from
131. Tosmellarat: |

(1) to see signs of plague epidemic (2) to get bad smell of a dead rat

(3) to suspect foul dealing (4) to feel uneasy
132. To cry wolf : :

(1) to listen eagerly (2) to give false alarm

(3) to turn pale (4) to keep off starvation
Direction : (Q. No. 133-136) : Select the right word to fill in the blanks in the given sentences :
133. ............... very hungry, he bought a sandwich.

(1) feel {(2) he felt - (3) feeling (4) they felt
134. When [ met Claire yesterday, it was the first time I ............... her since

Christmas.

(1) saw (2} have seen

(3) had seen (4) have been seeing
135. Many.............. decisions were taken at the meeting,

{1) historical (2) historic (3) hectic (4) histrionic
136. Thestudent ............... that book from the library to Stl;d}' at home,

{1) issued {2) hired (3} lent . (4) borrowed

(26)



15U/113/5/(Set - 1)

Direction : (Q. No, 137-140) : Select the correct form of the verb to complete the following
sentences :

137. Assoon as | reached the station, the train ......ve...

(1) has already left (2} has left ‘ai}ead}'

(3) had already left (4) left already
138. Youneed not .........oenees about us. .

(1) to worry (2) worried (3) worry (4) had worried
138. 1 ............... the news an hour ago.

(1) have heard (2) was hearing

(3) have been hearing (4) heard
140. Unlesshe............... this office, I will not say anything.

(1) leaves (2) left

(3) did not leave (4) had left
Direction : (Q. No. 141-144) : Choose the correct preposition for each blank :
141. The patient died ............... cancer

(1) from (2) with (3} for (4) of
142. He wrote the letter ............... a fountain pen.

(1) by (2) with (3) from (4) in
143. Shecomes............... a noble family.

(1) from (2) of (3) by (4) over
144. MayIrequest ............... you again to consider my case favourably.

(1) to (2) of

(3) unto (4) no preposition required
Divection : (Q. No. 145 & 146) : Choose the correct alternative for each blank :
145, The youngest sister is at ............... school now.

(1) a (2) an (3) the {4) no article
146. Shyamlalis............... M. P. from our constituency.

(1) a (2) an (3) the (4) no article
Direction : (Q. No. 147 & 148) ; Select the word which has been wrongly spelt :
147. (1) Mediocer (2) luxurious (3} oblique {4) suspicious
148. (1) Librery (2) question (3) technique (4} vacuum

(27) P.T.O.
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Direction : (Q. No. 149 & 150) : Select the part of spm:h of the underlined word in the given
sentences :

149. His manners please me :

180.

151.

152,

153.
| 154.
155.
158.
167.
158.

158.

(1) Adjective {2) Pronoun (3) Determiner (4) Conjunction
Please water the plants in the morning :
(1) Noun (2) Pronoun (3) Verb {4) Adverb

SECTION =1l

o - i

oy - ey

ffesh 2 arer ffafat @ fag)
; ﬂMM#mmmmMﬂ#! for7¥ war oo w7 vE #) 99

& I B g -
frefafem % § B9 smeml o & Igen e o oie T & ?
(1) wifHe 2) faomfy (3) "wufy wrew (4) viEEwETh
s et v & 7
(1) (2) #w+ (3) TG (4) SHIH
guira A ¥ w9 A we A= e ek ?
(1) 62 (2) 69 (3) 71 (4) 80 .
Torgeft #hr FRA A v St anfRere F wafera o awer W R wm R ?
(1) ' mesT (2) TG (3) dhra 4) s
Tifeard fraat T & 7
(1) R g (2) g v (3) HaEH {41,-5@1115#
RATIR TN g os A ford & 7
(1) T2 (2) e (3) @ (4) Zrer-ehurg
6 TFE & 5w wrar w1 o s o & 7
(1) S (2) ST (3) SRS (4) RS
gy free fire & 7 _
(1) HEIREN (2) voww (3) =T (4) TETE™
R e i e A A e o o 2 7
(1) fds §fte (2) TranTirgTT I
(3) 3G T (4) =T

(28)
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180. ffirege g @ wads st ot & ?

(1) Imrarerd (2) = (3) =arery (4) vimwrard
181, wd o @ dwe Preefag A ABH R ?

(1) godrETE (2) 7o e (3) ¥fAnrEET (4) wWeE BEW
182, weftg wRz fn a8 wEfy wa &1 | |

g fare gordt R, gorell & g Bl

ST BT w1 vfder By # 7

(1) goimT= (2) vErETE (3) HE (4) T 97T
163. T €9e T3 P GUEE oW & ?

(1) A= (2) sT9F® W (3) WY AREw A (4) dFeA
184, ol ves T @ FTOR QrerE w1 Aaae B B 7

(1) Zeafa Fsm (2) feomf (3) smurd dvEeT (4) THEd fHE
185, Wi wRwa A A e W) S A B B AR AN e P

(1) wmm g&dwm (2) s (3) FemomTE (4) ST
188. Pr=fafies A § @19 ‘weesht @ FEr w@uE T § 2

(1) wfwafy (2) =\ (3) o™ (4) %R
167. 2 it faswan safés g & 2

(1) wofremeemg X (2) AreT (3) Rrager wern  (4) fraver g
168. M s gg TSI AN E? :

(1) g (2) sifreer (3) aftafem (4) wifhfae
180. ‘JUTES YR 1 OHH Y€ U e § ? '

(1) sofew (2) smrEEw (3) FEE (4) omTER
170. woHIfR o1 e o1 8 7

(1) yfs (2) ¥ (3) gafd (4) sl
17, st A Rew e s 8 ?

(1) gw (2) wfewt (3) wferanft (4) arFEdTh
172, Prefofem & & sig Y& &1 999 FIfag |

(1) " R (2) T (3 9% (4) e

(29) P T.O



15U 13/5/(Set - 1)

173.

174.

175.

176.
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